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Delhi-54
Class : 4 SUMMATIVE ASSESSMENT 2 Marks: 60
Date : 04.03.16 MATHS Time: 1% hours
Name: Class & Sec. R. No.
Note: All the answers should be done on the question paper itself.

Mental Maths: (1X15=15)

1. 19cm = mm

2. 6 kg = g

3. Circle the unit fractions

) = b Q)= dy 2

4. Write 17 + 19 as fraction

5. = = »%

6. 11:20 p.m. = (24 hour clock time)

7. How many cups will be required to fill 1 litre of water, if each cup can hold

200 m¢ water?

8. 1400 hours = (12 hour clock time)

0. 0830 hours = (12 hour clock time)

10. The doctor advised me to take 5 (m¢ /litre) of cough syrup.

11.  Your school begins at 8.00 (a.m./p.m.)

12. 75 minutes = hour minutes

13. Put>, < or = sign
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b) — 1
c) 2 days 48 minutes
Class : 4 SUMMATIVE ASSESSMENT 2 Marks: 60
Date: 04.03.16 MATHS Time: 1 hours
Note: All the answers should be done on the answer sheet.
Show proper method and solve
39 .
. Express — asa mixed number. (2)
. Find the next three equivalent fractions of% .
(1)
7 10
. Check whether 3 and 7 are equivalent or not. (2)
4
. Express 6 casan improper fraction. (2)
. Arrange the following fractions in ascending order :
(12x2=3)
2 L 2 7
2) 16’ 16’ 16’ 16
12 12 12 12
°) T 3 w0 T2
40 .
. Reduce 0 to its lowest term. (2)
. Convert the following: (2x4=8)
a) 9 m 65 cm into centimetres. b) 2 ¢5m¢ into millilitres.
c) 5468 m into km and m d) 8047 ginto kg and g.
. Solve and reduce to the lowest terms: (2x2=4)
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9. Arrange in coloumn and add : (2V2x2=5)
a) 16 £485m¢; 509 ¢ 75m¢ ; and 37 ¢ 825 m¢
b) 56m 85 cm ; 64m 40cm and 58m 70 cm
10. Subtract : (2x2=4)
a) 67km 950 m from 150 km
b) 581 Kg 950 g — 94 Kg 275 g
11. Convert the following: (2x2=4)
a) 15 days into hours.
b) 4 minutes 40 seconds into seconds
12. What is the time 3 hours before 1:30 p.m. ? (1%2)
13. Write statements and solve: (3x2=6)

apples.

a) An oil drum has 45 ¢ 700 m¢ of oil in it. If 26 £ 850 m¢ of oil is taken out of
it, how much is left?

b) Mohan bought 3kg 500g of mangoes, 2kg 375¢g of oranges and 1kg 50g of

What is the total weight of the fruits bought by him?
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